* T LRFEBRDBARICBYMFITTEEY,

* Adhesive rubber feet in cluded.

HERINZ / Components
No. 2 ¥ / Part name #= / Pcs # '8 / Material - REAEE / Color:Finish
1 Jav kR 1 7 ILEHR A1100P YN =TLRAL, 73997 he4b
Front panel Aluminium A1100P Silver anodized , Black anodized
2 YT I8FI 1 7 ILSHR A1100P YMN=FNIAL, 77997 MRAb
Rear panel Aluminium A1100P Silver anodized , Black anodized
3 HARTL—L 2 TILEHHH A6063S-T5 To-gE TIIBE
Side frame Extruded aluminium A6063S-T5 Gray painted , Black painted
JAVRIL—L 2 TIVSHHA A6063S-T5 VAV & PUL: &3
Front frame Extruded aluminium A6063S-T5 Gray painted , Black painted
D7IL—L 2 T ILEHR A A6063S-T5 YN =TLIAE
Rear frame Extruded aluminium A6063S-T5 Silver anodized
EHs8—/ Top cover 1 4k SPCC / Steel SPCC AN L-FEE | 7'59)FE / Light gray painted , Black painted
TFH/3— / Bottom cover 1 #fll#kx SPCC / Steel SPCC AN L-BEE | 7599 FEE / Light gray painted , Black painted
a—)—2Jovy 2 TILEA LR ADC12 TL-BE TR E
Corner block Diecast aluminium ADC12 Gray painted , Black painted
YF724—k 2 SERRPEABSHEAE (UL9AV-0 )| 7'L—, 7599
Rear feet Flame-resistant ABS UL94V-0 Gray , Black
3 L2 / Rubber feet RYr9L A / Polyurethane 7°79%9 / Black
HATER (M4 x 6 93) # =fiyns—+
Screw (M4 - 6 Countersunk) Steel Trivalent chromate
BAFTER (M4 x 8 FX) 8 % =ffiyni-+
Screw (M4 - 8 Pan head) Steel Trivalent chromate
ERTE R (M4 x 10 /3 2K) 4 # =ffiRyni-+
Screw (M4 — 10 Binding head) Steel Black trivalent chromate

s/ Title
AR SNTFEBTR ARNYRT Ll —R O]
Bk (BFEXRED) / Color type (End of product number[J) _ TAKACHI ELECTRONICS ENGLOSURE GO., LTD. DESKTOP ENCLOSURE e
S22 / Code JNHIL / Panel | £ FH/8N— / Top » Bottom cover | AR —L / Side frame | Z&/Approved & [X|/Checked [ /Created | Z4F/Product number
GS < )LsS— / Silver SAkJL— / Light gray 4'L— / Gray MS149-16-231
B J5w% / Black 7594 / Black 7594 / Black iR F At 1/ 8
BS 2 JLiN— / Silver J5v% / Black 75v?% / Black {ERLH/Date 2023/08/10




B-B(1:3)

125

20

10

:
|

230

M)

HARIL—L1 / Side framel

149

6.1

Ak IL—L1 / Front framel

160

= A B
2 N |
0

|

|

3

| 3

I |
— ‘ \—
= A
133

1)727L—11 / Rear framel

A-A(1:3) 175

H#~T% / Max dim. 205

BH~Ti% / Max dim. 144

C-C(1:3)

H3~T% / Max dim. 139

)7L —.\2 / Rear frame2

— f
®
Iz}
8 O
@
] Q

0k IL—L2 / Front frame2

~

J(

20.6

HARIL—L2 / Side frame2

130

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a4/ Title
AZIWORT LT —R
DESKTOP ENCLOSURE

o]

#2/Approved

iR

%[/ Checked R/ Created

ES A

24 /Product number RE/Scale
MS149-16-2301 1:3
fmB/Date  2020/03/03 2 /8




082 ks8%)L / Front panel

$~t3% / Max dim. 133

75
*

]

ATk / Max dim. 130

ZRIE / Front side

1)J7 /54 J)L / Rear panel

HZ~ti% / Max dim. 132.5

AH#h~ti% / Max dim. 130

XM / Front side

R —HA

Surface protective film side

RE—MA
Surface protective film side

133

139

ZEM / Back side

138.5

138.8

M / Back side

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

R4/ Title
AR YT IR

Front panel , Rear panel

o]

£8/Approved

iR

X/ Checked

T

X /Created

A

FIF /Product number

H149 - W160

RE/Scale
1:2

{ER B /Date 2020/03/03

3/ 8




702 MME| / Front side

B2 M| / Front side

2-@5

144
127

1975

4-g45

11

136.5
119

55

1175

HARI7L—1L1 / Side framel

HARIL—L2 / Side frame2

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
HYARIL—L @ G
Side frame _

1% /Product number RE/Scale
H149 - D230 1:25

1ERLH/Date 2020/03/03 4 /8




30

133

l®) [®)

A\ N\
123

le) e

A\ A\

R4

20

2-MAFH SR

2-M4 Countersunk

M) m
O Q
AV kI —1s1 / Front framel
-~ ~
/ /

A2 kIL—L2 / Front frame2

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

7R/ Approved

R

%[/ Checked

T

R/ Created

A

am/Title
JAVRIL—L @ G
Front frame _

1% /Product number RE/Scale
W160 1:1.5

1ERLH/Date 2020/03/03 57/ 8




20

141

M4

1J77L—1s1 / Rear framel

1)72L—L2 / Rear frame2

am/Title
[TAKACHI) #ztsitanFEMTSE JFPIL—L O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Rear frame
732/ Approved X/ Checked X /Created | E!F/Product number RIE/Scale
W1 60 1:1.5
iR ES e
fFAE/Date  2020/03/03 678




6.75

15

199.5

—

129.5

156.5

$~ti% / Max dim. 167.5

7
X

Sl

12

F#h~ti%k / Max dim. 139

R4.5

15.5

6.5

G/ Title
TAKACHI| #HXR#ShFEHTE Fha— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
752/ Approved 18X/ Checked #X/Created #IF /Product number RE/Scale
W160 - D230 12
iR x E3Z o
i 7/ 8

{ERL B /Date 2020/03/03




6.75

15

199.5

—

129.5

156.5

$~ti% / Max dim. 167.5

75
X

Sl

12

F#h~ti%k / Max dim. 139

R4.5

15.5

6.5

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
Thi—

Bottom cover

o]

7R/ Approved

iR

X/ Checked

T

X /Created

A

FIF /Product number

W160 - D230

RE/Scale
1:2

{ERL B /Date 2020/03/03






